Division
This problem gives you the chance to: ‘ 1

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 pebple share the cost of a meal costing $100?

$16.47 /

b. 100 children each need-a pencil. Pencils are sold in packs of 6. How many packs are needed?

|7 Qcm,kﬁ -

c. What is the cost per gram of shampoo costing $6 for 100 grams?

d. How many CDs costing $6 each can be bought for $100? /
\ /
16 CD

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

| Z wailes pec olcg -/ (

2. Write another question, together with its sensible answer, that can be answered using 100 + 6. ,
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Division
This problem gives you the chance to: I 2

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
Wnok dces eererble andwey Meon?
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costiy $100? !

P16.10

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
r] DOCV% | -

c. What is the cost per gram of shampoo costing $6 for 100 grams?

1’100 oboeur * P

d. How many CDs costing $6 each can be bought for $100? /
[0 cds

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? @

(0. 10 mntles oo d(MA

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

How much oleders Yok cost Bl could L
ok witth VOO dollars . /

@%
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Division

This problem gives you the chance to: I 3

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.

i

a. How much does each person pay when 6 people share the Zost of a meal costing $1007? u L

X_©

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed? IZ

, e ( 14,

Cu

S/

c. What is the cost per gram of shampoo costing $6 for 100 grams? )% | c. 4{
:n/\p (“nsfjpr gr‘ar’) (.Jou’r) J:.p abod ﬁ Zéé

d. How many CDs costing $6 each can be bought for $100" | [,,Y:/ 6
bu can by lb CDs ;o

e. What is the average distance per day, to the nearest mile, traveled by a hlker on the }

Appalachian Trail, who covers 100 miles in 6 days?

/ike_ Dﬂgarﬁ:r!' JY):'!@ /JU()‘J be_ I7M1,e§aajo}/

2. Wnte another question, together with its sensible answer, that can be answered using 100 + 6.

/00 Gle D‘anl’ma Q oaro’en and Vo need 100 seedk,
_ﬂ\e(“e, alre Qn }L {oﬁppr)s m eac/”\ paC/S
O(J Maru/ d)a(,((j QQ' ‘Sepc)‘:; r“)O \/o/} neEoJ 7/

yu (,Jt” Wpac(:) CS’ 56@0)5. - ,

|

&
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Division

This problem gives you the chance to: I 4

« relate a given division calculation to appropriate practical situations

When you calculate 100 - 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.

a. How much does each person pay when 6 people share the cost of a meal costing $100?

o6Q | X 0

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?/

\ 7 -

c. What is the cost per gram of shampoo costing $6 for 100 grams?

d. How many CDs costing $6 each can be bought for $100? >(
. OG 1%
e. What is the average distance per day, to the nearest mile, traveled by a hiker on the [
Appalachian Trail, who covers 100 miles in 6 days? /

\ 1

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

quh hotge shoe. CestS ﬁcpg Yo MENe

Con tor Yo Lsh o Hioo bi)l? i
J J _
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Division _
This problem gives you the chance to: l 5

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to giye a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay When 6 people share the cost of a meal costing $IOQ? /
A e /
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

1(2 ooCcks X 0

c. What is the cost per gram of shambdo costing $6 for 100 grams?
£\ ;
\"]Q, —or 1. Sﬁ‘ﬁms . X 0
d. How many CDs costing $6 each can be bought for $100? /

G s -

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? /

17 wites | /

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
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Division o .
This problem gives you the chance to: | S 1

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result. -

g
a. How much does each person pay when 6 people share the cost of a meal costing $100? /
bl6. &7

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
c. What is the cost per gram of shampoo costing $6 for 100 grams? / )
@C\!ﬂ tl dm& jh S 'DmIJ

d. How many CDs costing $6 each can be bought for $100?

If 4 /

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? / /

7

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
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Division
This problem gives you the chance to: S 2

» relate a given division calculation to appropriate practical situations

]

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100? /
16,67
ﬁ;
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are eed/:d?

( "74;0&\43

c. What is the cost per gram of shampoo costing $6 for 100 grams? / /
5 <
s conk loe dwngeeced.
d. How many CDs costing $6 each can be bought for $100? / /

o cd

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? X O

.67 voiles |

2. Write another question, together with its sensible answer, that can be answered using 100 + 6. /

/‘4 e Awlms LO(L\GLQ% N G W\\"vme'h/, how
wonu lg‘m‘; dose. PR Sivamer  Swim pof  inded

/
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‘Division
This problem gives you the chance to: 83

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?/ :
M oty foy 9@\0 A7 . / [ -
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed? {

Y nerd Mo by N1 pecles, /

c. What is the cost per gram of shampoo costing $6 for 100 grams?

o, & x O

d. How many CDs costing $6 each can be bought for $100? /
b ds an be  baught e

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? yd

The hlcer  can  davel  alooW¥ VT wites

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

M_Q\MS_Q_BM_M_QMM&_M\

o d/\\é{ev\ qet Q\'\I\&(P ace  \QO .ﬁc?L
o pieces ench <
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Division
This problem gives you the chance to: ' 84

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100? /

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed7

1 packs a4

c. What is the cost per gram of shampoo costing $6 for 100 grams? X O
d. How many CDs costing $6 each can be bought for $100? / /

b cxs

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the /
Appalachian Trail, who covers 100 miles in 6 days? /

Qbout T miles §

P

o
2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
Houw) onuch \aubDlequm Can e

\ouaht with 8 (/6 & gackh pacls ©
15?3&;2 0
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Division
This problem gives you the chance to: 85

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.

a. How much does each person pay when 6 people share the cost of a meal costing $100?
p—

Eroch persen wmdd pay about $i16.67.7/

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

| ] 'oo.c.k, S ore  negded, -
c. What is the cost per gram of shampoo costing $6 for 100 grams?
not” poss/ ble

d. How many CDs costing $6 each can be bought for $100?

A / /

.

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

/? raile Pes— Q{ouy / (

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.

QL T a ngk of Mmerhleo bas &
x 0

of ‘f'Ama__,_Aam/__mmHM

bt \ ' (609 . ' 0
Ar: About /6 x
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Division
This problem gives you the chance to: 86

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.

1. Write down the sensible answers and find the question that cannot be answered using this result.

a. How much does each person pay when 6 people share the cost of a meal costing $100? /
J

RAMAIY,

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
\'[ ocks
c. What is the cost per gram of shampoo costing $6 for 100 grams?
At ] oo, X D
d. How many CDs costing $6 each can be bought for $100? /

o O /

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days? (

0o R\l enileS 1ef @o%,z

2. Write another question, together with its sensible answer, that can be answered using 100 + 6.
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Division | ‘
This problem gives you the chance to: S7

- relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the. cost of a meal costing $100?
“16.47 ! | .
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?
7 Qo.C Ks A

c. What is the cost per gram of shampoo costing $6 for 100 grams?

a6 7

x 0

d. How many CDs costing $6 each can be bought for $100? / I
/G cd5
€. What is the average distance per day, to the nearest mile, traveled by a hiker on the l
Appalachian Trail, who covers 100 miles in 6 days? /

|7 mnles

2. Write another question, together with its sensible answer, that can be answered using 100 + 6. 0

There on 0B palls  that £0F 6%%, :'r\‘x
boxes.. How WW\\:} Doves  ace Mecleé/

4

©
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Division ,
This problem gives you the chance to: 88

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?
bloo  \o03le X o
b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed? .
0 pots A0 | -
c. What is the cost per gram of shampoo cosﬁng $6 for 100 grams?
§ LO.00 L% (.00

d. How many CDs costlng $6 each can be bought for $100?

o V¢, +la

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the
Appalachian Trail, who covers 100 miles in 6 days?

\o.lo Miky N5y

X 0

X 0

2. Write another question, together with its sensible answer, that can be answered using 100 + 6. 0

BQQ_KLL hod 100  Skattles  Sn¢  and ncr Sox Coerds

spu thetn Ve How eny Bégles  Adl_ealh
? -
peson. Qb e = o 5
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Division
This problem gives you the chance to: Sg

» relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 people share the cost of a meal costing $100?

51067 /!

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are r?ded? /
| 7 0aCkhs

c. What is the cost per gram of shampoo costing $6 for 100 grams? / (

not” QOSSLDIEL‘HA& Wt/ |

d. How many CDs costing $6 each can be bougixt for $100? / /
\o rds

e. What is the average distance per day, to the nearest mile, traveled by a hiker on the »

Appalachian Trail, who covers 100 miles in 6 days? / /

| 7 mles perday

2. Write another question, together with its sensible answer, that can be answered using 100 + 6/

4@ S,: , 2200 GoT D ore.. (& epore S ..r
/ = , 2 ; ) P ’ - . -
I 111G GO o, HOLY (DN . .: NI S 1\ Ay e'

Unepded. (VX
‘,
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Division
This problem gives you the chance to: S 1 0

* relate a given division calculation to appropriate practical situations

When you calculate 100 + 6 using a calculator, the result is 16.6666667.
This result can be used to give a sensible answer to all the following questions except one.
1. Write down the sensible answers and find the question that cannot be answered using this result.
a. How much does each person pay when 6 péople share the cost of a meal costing $100?
A 16 L] vk s

b. 100 children each need a pencil. Pencils are sold in packs of 6. How many packs are needed?

\N s /

c. What is the cost per gram of shampoo costing $6 for 100 grams? /
R0AX Ko o
d. How many CDs costing $6 each can be bought for $100? /
\la_ Qus -
e. What is the average distance per day, to the nearest mile, traveled by a hiker on the /

Appalachian Trail, who covers 100 miles in 6 days?

D ‘N&\\QX N -

2. Write another question, together with its sensible answer, that can be answered using 100 + 6. |

\EE} QQQQ\Q wan Yo (!o %o flocdin |

had ey Soe s Ny ey W

ket w6 ,eeﬁe\z7 n v [
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